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GR: A MATHE MATICS

_ALGEBRAIC EQLATIONS

SOLNE EQUATIONS

v Use ‘wyerse o?erccl:ions’. o) qc.lc\ &> sulkstract

b) MM\EF\:\' &« _;:\'N'\cle

) eaunere &> soucre roct,
Vv 14

eq: ) @D = oLt D

Bt - 5 =2 =+ 3B

Bt -2t = 2+ 5

b = R
x = &
-~ = 2

What number divided by 12 gives an answer of 727

a)
I b) What number must be added to 8 to get an answer of -237
¢ ) What number when multiplied by 15 gives -907?

IOV

2. Solve the following equatibns:

I a) x+7=15 by m-2=17 c) Sy=3y+12
d) 13p-6=33 e) 5a~-22=a-2 f) n-4=-6
3. Solveforx:
e X X
a) 5=25 b) 5=12
X _ : x-6_
S— c) $+2=-5 d) *5==-1
2x-3 _ 3x+4+1 _ 20-1) 3 3Q2x+3)
e) SHSo-Fg—=1 )y = 2157 2 3
) |4, Solve for x:
a) 3x-2)=2(x-4) b) 2(2x-4)=3(3x+4)
1 c) B-2x-1)=4x-16 d) 22x+9) -2 +3)=x+11-54-x)
| 5. Solve the following equations:
T a) 4(7x+6)=3(9x+8) b) g-+x+2=x+%

x+3 x_x+2 32, oy_9_1
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EQUATIONS \WITHR ExXPONENTS

5.

Solve for x: — _
a) =16 b) K=o c) 2%*=32 ;

d) 8¥=16 e) ¥ =0,008 f) 10%=0,0001 T
Solve for x

a) H=8 b) 2x%=32 <) =81 d) 2x3-4=246

if 52 x 5%¥= 1, solve for x.

The product of the square of a number and the cube of the same number is
equal to 32. Find the number.

3
axa® _ x

Find the value of x if 7

WORD PROBLEMS

i
i

e

EQRUATIONS ITH

4.

A farmer sells a certain number of chickens at R20 each and double the
number of chickens at R30 each. If his total income is R1 280, how many
chickens did he sell at each price?

A father is now 38 years older than his son. Ten years ago he was twice as old
as his son. How old are the father and son now?

Chad is training for a swimming gala by swimming 40 lengths a day.

He worked out that if he doubled the lengths he has swum so far and

then added six, he would have swum the 40 lengths.

a) Write an equation using the variable x showing the information given.
b) Solve the equation to find the value of x.

B e

Find three consecutive numbers that add up to -54.

FRACTIONS

! e
L Denowinater camnct be —=zero.
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FACTORISE EQUATIONS
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.. Difference of squares : 2 -%= 0
(xt3) (x-3)= O
x+2=0 R 2-3z0
®xz-> | o2 =3

* FM& ﬂne. sq‘},\gre. rcp@‘t dF 'Hae, 'be.rms.

% One bracket lWas + sign
J

other bracket - sign,

4

O

2. Trinowial :

2
x< + K -

-
-

20 O

. - + :’*L

(x-4)(x+5)= 0

X -

4= O

oR X+5 =20

[ -4
~

2 T

tr———

>

=G —

x= 4

x=-5

3. Factorised breekets ¢

(c+e)(x-1)= O

XL+6 =0

oR x~-1=20

N

- = 1

4. Commoen ‘Fac;bcgr- ’ Q:x} + ‘b= 4+30 = O

2 (:cf-i- L +—\6>=—0

-
3

:c,z.g—%gc,-l—lﬁ

o

X+ = 5

(x+5)(sc+2) = ©

x + 3 2
po o8 o8 =1 :—Q oR AX+3=0
>x<=-5 o =3
lve for x. '

a) k-Nx-4)=0 b) (x+7)x-2)=0
(x-3)}x+5)=0 d) x+2kx-8=0
x+12)(x+6)=0 f) x-10x-7)=0
x2-3x=0 b) 2x2-4x=0
x?=-121=0 d) 4@-9=0
2x2-32=0 f) 18x2-2=0
3 -3=0 h) 5x-125=0
#-5x-6=0 b) x-15x+36=0
X+x-12=0 d) x*-3x-18=0
xX-6x=7 f) 3x2+6x-9=0
2xt - 2x =24 h) 4x2 +32x=—48
(x+2P+{(x+2)=0 b) (x-1P=x+5
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GENERATE TABLES

-3 -2 0 2 3 -

- 6 4 0 -4 -6
- b) ~

-3 -2 -1 0 2

9 4 1 0 4

-1 0 1 3

SIMULTANEOLUS EGUATIONS

v Substit ution:

A-Y4= 2 —_— W

X+4s ik - (2

From eq. () we C\Ue,"t ' = \1*-'2 — CB)
v (%]

Sub. quC3) wto eqv. (2); yr2 t+ y= 14




2. Ellwination -
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i 4,

£ 4+ 2qy= | —
st
+ 23y =2 6 — (3) e —
-Qx - 2 - # Make the coe'Ticient
a(Dx2: 2x ray=2 —> (s)
- en(3): -4z & the scme.
eq(z) - eq(3) 3 ¥ A F the wgrs e
=z -4 o\;'PFE.Y‘QAt' PN aJNEN TN
3= ¥ Subtract i the
cub uz-4 i ea- O a+r2l-w)=| siqus aive
®< = B+
st = 9

~y=-5andx+y= -]
~y=-land 2Zx-y=0
+3v=6and-x+8y=5
y=-land 2x-y=-3

r+y=2and6x-y=25

+3x=7and4x+3y=15

following simultaneous equations:
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